
ritte ti0 si 
The threshold for determination of question analysis was a miss percentage of 50%. 

#20 QID #0694 
5/9 total candidates missed (56%) 
This question is valid and is a direct quote from the EOP notes. If the candidate 

has not studied this recently the likelihood of recall is low, and then the candidate is 
reduced to guessing as supported by the random distribution of answers. No change to 
the key was made. The question is technically correct as written, with no construction 
problems. We will be performing training needs analysis on this question. 

#33 QID #0701 
5/9 total candidates missed (56%) 
This question is valid and is the normal ECCS alignment. No change to the key 

was made. The question is technically correct as written, with no construction problems. 
We will be performing training needs analysis on this question. 

#57 QID #0718 
7/9 total candidates missed (77%) 
This question is valid and tests the candidates’ knowledge of the Pressurizer Level 

controller. The candidates which missed this question chose answers which are 
indicative of the Integrated Control System and not Pressurizer level control. The 
question is technically correct as written, with no construction problems. We will be 
performing training needs analysis on this question. 

#72 QID #0727 
5/9 total candidates missed (56%) 
This question is valid and tests the candidates’ knowledge of Technical 

Specification required RCS leak detection methods. If the candidate has not studied this 
recently the likelihood of recall is low, and then the candidate is reduced to guessing. No 
change to the key was made. The question is technically correct as written, with no 
construction problems. We will be performing training needs analysis on this question. 



ritte tio 
The threshold for determination of question analysis was a miss percentage of 50%. 

#97 OID #0748 
4/6 SRO candidates missed (67%) 
This question is valid and tests the candidates’ knowledge of Emergency Dose 

allowances and approval authority. If the candidate has not studied this recently the 
likelihood of recall is low, and then the candidate is reduced to guessing. No change to 
the key was made. The question is technically correct as written, with no construction 
problems. We will be performing training needs analysis on this question. 


